Chapter 8 Sections 8.4–8.7   Even Answers Mostly!
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Section 8.4 
Class Exercises

1. 
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8. dotted curve
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9. solid curve
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11. 0 < x < 6.3 ft

Section 8.4

Practice Exercises

2. 
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6.  -1.4 < x < -1.2, 

     x > 1.4

8. -1.6 < x < 1.8

10.  -2.4 < x < 1, 

     x > 2.4

12. solid ‘line’
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Section 8.5
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Practice Exercises

2. dotted & solid
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4. dotted lines
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5. solid lines
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6. dotted & solid
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7. solid & dotted
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8. solid & dotted
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9. dotted & solid
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10. 2x – y > 12 
11. (-1,7) 
Section 8.5 (continued)
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42. As more and more time 
passes without a train, the 

probability that the next will 

be a southbound train 

approaches zero. The event 

and sample spaces both 

become smaller, but the 

event space occupies a 

progressively smaller 

percentage of the current 

sample.

43. Let S(sixty watt) be the 

# of hours the 60W bulb is 

on, H(hundred watt) = # of 

hours the 100W bulb is on. 

1.3H + .8S < 800, H > S + 50

 44. 
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45.  11/36

Challenge 8.5
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Section 8.6 
Class Exercises

1. P = 15 = 5x + 3y
    P = 27 = 5x + 3y

    P = 30 = 5x + 3y
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    P(6,0) = 30 max
2. P = 400 = 20x + 40y
     P = 460 = 20x + 40y

     P = 180 = 20x + 40y
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    P(7,8) = 460 max
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Section 8.7(continued)
13. One may consider other 

factors that were left out of 

the original analysis.

14. The second inequality 

has no effect as its points 

are “inside” the region given 

by the first inequality.

15. 377 in/s
16. beef: 6 oz liver: 6 oz
17. [image: image28.png]



18. bonds $36k, T-bills $12k
19. 10

20. See #14 above.

21. some: 6 bags, alot: 3 bags
22. 
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25. The problem should be 

finding a maximum. Try 
writing the constraints first.

26. 225/4

27. A: 1600 yd, B: 0 yd

28. wedding: 8, shower: 6

29. I: 5 oz, II: 1 oz

30. 19

31. Changing the price of the 

fabrics or the amount of time 

spent on each processing stage.

32. letters: 12, jiffy: 0
33. reserved: 10, open: 120
34. Determine an objective 

function for profit as a 
guideline.












Challenge


P = x + y,  max = 13


P = x + 4y, max = 29


P = -x + y,  max = 2





Cumulative Review


1. C  2. A  3. B  4. A  5. C  6. A  7. B  8. D  9. C  10. A  11. B  12. A  13. C  14. A   15. B  16. C  17. B  18. A  19. 10  20.odd 


21. � EMBED Equation.DSMT4  ��� 22. no 


23. � 


24. (x+3)(x–4)2 


25. 30o 26. 17.44 


27. [-2,3]  28. -2,4,1 


29. (0,2)  30. � EMBED Equation.DSMT4  ��� 


31. [-2,4]  32. � EMBED Equation.DSMT4  ���


33. 2,24   34. 60o,300o 


35. 10,340 cm2


36. 62.34o 37. � EMBED Equation.DSMT4  ���


38. x < -.5,0 < x <.75


39. � EMBED Equation.DSMT4  ��� 


40. quadrantal angle


41. x2 + 4x + 29 = 0 


42. 3 43.tan2x  44. 7.8


45. N 46. � EMBED Equation.DSMT4  ��� 


47. x = -1, y = 3x – 7


48. 3.9897, 5.4351


49. � EMBED Equation.DSMT4  ���


50. 40.20  51. � EMBED Equation.DSMT4  ��� 


52. cos 2x  53. � EMBED Equation.DSMT4  ���


54. � EMBED Equation.DSMT4  ��� 


55. 36  56. tan 80o 


57. yes  58. 10


59. 16.8 rad/s 


60. -3,2,1  61. 60o


62. � EMBED Equation.DSMT4  ���  63. always 64. never  65. never


66. always





23. dotted lines


   �


24. dotted curves


 �


25.   �


26. 10


27. equine: 24


human figures: 0


Chapter 8 Test


1. (-1,-2) 


2. (6,0), (-4,5)


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. � EMBED Equation.DSMT4  ��� � EMBED Equation.DSMT4  ���


       � EMBED Equation.DSMT4  ���


6. dotted line


   �


7. solid curve


   �


8. dotted cubic


   �


9. dots/dots/solid


   �


10. solid curves


   �


 11. � EMBED Equation.DSMT4  ���


12. 18








Test Yourself 8.7


2. (3,2)


Chapter 8


Summary & Review


2. (-2,-2), (2.6,-.16)


4. (3,9), (-1,1)


6. open dots


     � EMBED Equation.DSMT4  ���


7. solid line, above


8. dotted line,   


       above the ‘V’


10. [-.79, 2.12]


12. (1, 2.5)


13. solid curve


   �


14. dotted curve


   �


16. (-3.3,3.3)


18. � EMBED Equation.DSMT4  ���


20. solid line  


    �


 21. dotted & solid


    �


 22. dotted/solid


    �











3. x = regular mix


    y = deluxe mix


    C = 2x + 7y


  � EMBED Equation.DSMT4  ���


4. x = regular dressing


    y = lite dressing


    C = .03x + .02y


    � EMBED Equation.DSMT4  ���





Section 8.7


Practice Exercises


1. (2,2) 


2. (30,45)


3. (10,0)


4. (4,1)


5. tv = 35, frig = 75


6. plastic 0, metal 5


7. max at (1,1)


8. Both products sell at the same price and the first product takes less time to manufacture.


9. � EMBED Equation.DSMT4  ���


    �


10. deluxe 10, std 15


11.� EMBED Equation.DSMT4  ���


     with � EMBED Equation.DSMT4  ��� or 


      � EMBED Equation.DSMT4  ���


     with � EMBED Equation.DSMT4  ���


12. marigolds: 24 acres 


      impatiens: 12 acres








24. C = 2x + 3y


26. � EMBED Equation.DSMT4  ���


28. � EMBED Equation.DSMT4  ���


30. a = 2b


31. Environmental issues with budgets for say a cleanup project.


32. 144 servings of bouillabaisse & 160 servings of gumbo -  240 servings of bouillabaisse & 96 servings of gumbo - 


or any integral combination on the line segment connecting these two points.


Review 8.6


1. yes, no: A mirror aligned with the y-axis shows line symmetry, but a mirror cannot show an odd function’s point symmetry.


2. no


Section 8.7


Class Exercises


1. x = teak


    y = mahogany


    P = 5x + 5y


   � EMBED Equation.DSMT4  ���


2. x = type A


    y = type B


    P = 7x + 10y


   � EMBED Equation.DSMT4  ���





3. C = 16 = 2x + 2y


     C = 4 = 2x + 2y


     C = 18 = 2x + 2y


   �


 C(0,2) = 4 minimum


4. 


4000 = 300x + 400y


1800 = 300x + 400y


6100 = 300x + 400y


  �


C(2,3) = 1800 min.


5. (5,2)





Section 8.6


Practice Exercises


2. (4,4)


4. (7,0)


6. (3,0)


8. (4,2)


10. 0


12. There cannot be a negative number of planes.


14. bran: 15


      corn: 15


16. (1.5,4.5), 330


18. (0,6), 420


20. The graph may include a region unbounded where  


x- and y-values decrease without bound.


22. Cleanit: 75


Super Cleanit: 50








35. 3/10


36. dotted lines


   �


37. dotted = white line


   �


38. dotted curves


   �


39. solid ‘lines’


   �


40. � EMBED Equation.DSMT4  ���  or 


� EMBED Equation.DSMT4  ��� 


   �


41. Since � EMBED Equation.DSMT4  ��� we have � EMBED Equation.DSMT4  ��� &� EMBED Equation.DSMT4  ��� 


  � 








24. dots/solid/dots


   �


25. dots/solid/solid


   �


26. dotted curves


  �


27. For x > 0 only


�


28. Black Region! �


30. � EMBED Equation.DSMT4  ���


31.Median = � EMBED Equation.DSMT4  ���


Hyp =� EMBED Equation.DSMT4  ���


      =� EMBED Equation.DSMT4  ���


32.� EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ���








13. solid ‘line’


    �


14. A rectangular solid with a square base is to have a surface area of 24 cm2. What should the dimensions be to maximize the volume?


16.  � EMBED Equation.DSMT4  ��� (graph is below the x-axis)


18. 1.2 < x < 2 ft,


  13.2 < x < 13.4 ft


19. Let (0,0), (a,0), (a,b), (0,b) be the vertices. The equations of the diagonals are: � EMBED Equation.DSMT4  ��� & � EMBED Equation.DSMT4  ���


Show the intersection point is � EMBED Equation.DSMT4  ��� their midpoint.


20. x < -5  � EMBED Equation.DSMT4  ���  


      -1.4 < x < 1.4


22. x < -1.4, x > -.5


24. x < 3.1


26.  � EMBED Equation.DSMT4  ��� � EMBED Equation.DSMT4  ���  


      � EMBED Equation.DSMT4  ���


28. dotted curve


   �


29. solid curve


   �








30. � EMBED Equation.DSMT4  ���


32. greater than 4.5 ft


34. x < -4 � EMBED Equation.DSMT4  ��� x > 4


36. x < -1.2 � EMBED Equation.DSMT4  ��� x > 1.5


38.� EMBED Equation.DSMT4  ��� 


        � EMBED Equation.DSMT4  ���


40.� EMBED Equation.DSMT4  ���


41. For #38, x = 0 would be a solution. The length of the interval in #40 would increase. (So the answer book says!)


42. [2.3, 5]


44. Length must be greater than 7.2 ft.


Test Yourself 8.4


2. (4,9)


4.  � EMBED Equation.DSMT4  ���


6. x < -2, -1 < x < 1


   or x > 2


8. solid line


   �


10. dotted line


    �








Section 8.5


Class Exercises


1. dotted oblique


    �


2. dotted lines


    �


3. top left shade


    �


4. dotted & solid


    �


5. solid & dotted


    �


6. solid & dotted


    �


7. solid & dotted 


    �


8. dotted & solid


    �


9. 17 daisies & 3 roses,


16&6, 15&9, 14&12, 13&15, 12&18, 11&21, 10&24, 9&27,…,2&48, 1&51





12. solid curve


�


13. solid curves �


14. darker overlap


   �


15. No shading! (-5,-3)


   �


18. (electric,battery)


(0,0),(0,1),…(0,9), (1,0),(1,1),(1,2),…(1,8), (2,0),(2,1),(2,2),…(2,6), (3,0)(3,1)(3,2),…(3,4), (4,0),(4,1),(4,2),…(4,3), (5,0),(5,1)


20. � EMBED Equation.DSMT4  ���


22. dotted lines


�
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